Week 6
Tuesday 28th April 2020
Year 6 - Maths fluency
Remember- Length is measured in millimetres (mm) and Volume is measured in millilitres (ml)
Please click on this link for more information - https://www.youtube.com/watch?v=2dhQ_pmILJU 
[image: ]



[image: ]



[image: ]
image1.png
Convert Metric Measures

Convert Metric Measures

Ta.True or false?

Tb. True or false?

10% of 3kg is smaller
than 1,000g.

50% of 1m is larger than
600cm.
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2a. Put these measurements in order from
smallest fo largest.

2b. Put these measurements in order from
largest o smallest.

3a. Complete the missing operafion and
measurementfo convert between kg and

Ex

1.5kg

hig

3b. Complete the missing operation and
measurement fo convert between cm
and mm.

10.5cm = mm
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4a. Find and comrect the errors in these

@ 150em = 15m
b, 50m 5,000cm
e 25mm = 25m
d. i = 100m!

4b. Find and comrect the errors in these

a 50 = Skg

b 2.200ml 221

e 15%kg =  1500g
S0em = 0.5m
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Sa. True or false?

5b. True or false?

50% of 2.5L is larger than
1,000ml.

20% of 2.5kg is smaller
than 500g.
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a. Put these measurements in order from
smallest fo largest.
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&b Put these measurements in order from
largest o smallest.
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7a. Complete the missing operafion and
measurement fo convert between g and
ka.

5359 = kg

P

7b. Complete the missing operation and
measurement fo convert between L and
ml.

3.5L = ml

W

8a. Find and comrect the errors in these

a  1.550m 155km
b, 1léSkg =  1450g
e 75em = 7.5mm
d. 7.505mm = 7.505m
bvd

8b. Find and correct the errors in these

a  320mm 32em
b, 1015em =  10.15m
e 13%kg = 1359

d. 20555 =  255kg
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9a. True or false?

9b. True o false?

26% of 1.239kg is smaller
than 322g.

38% of 675cm is larger
than 2.465m.
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10a. Put these measurements in order
from smallest fo largest.
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10b. Put these measurements in order
from largest fo smallest.
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0003mm | 073mm | s1.08cm
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11a. Complete the missing operation and
measurement fo convert between m and

1.104m
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11b. Complete the missing operafion and
measurement fo convert between L and
ml.

60.002L = ml
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12a. Find and correct he errors n fhese.
a.  563m = 0.563km
b. 23.56mm =  2356cm
c. 548,000mm =  5480m
d. 800.006cm = 8,000.06mm
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12b. Find and comrect the errors in these

a 858l = 3544ml
b, 2ml = 0.02L
c. 0003 = 3ml
d. 598ml = 0.598L
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